a(d x) (um) for PV

Ratio a(dy) (um) for PV

a(d z) (um) for PV

Ratio

10%[;

10

0(8 x) (um)

Ratio

0 15 20
Vertex z (cm)

1
E

o(d x) for merged vertices (um)

Ratio

=
o

1.UD|

e

Vertex z (cm)

1.9|

=
TTTT T

102 F

50 -15 =10 -5 0 5 10 15 20

10°

ey

Vertex z (cm)

Vertex z (cm)

RFRZ3_HORYUTLIERA 1000evt

o(0y) (um)

Ratio

(0 2) (Um)

Ratio

%0 =15 -10 -5 0 5 10 15 20
Vertex z (cm)

Vertex z (cm)

o(d'y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

=
o
[

1.UD|

i
T T
H
i
T

510 15 20
Vertex z (cm)

10 15 20
Vertex z (cm)



	Contents
	Page 1


